Paper 5— Social Work Methods

Answer any two Word Limit 1000 15x2=30
1. Bring out the importance of case work method in social work.
2. Analyze the components of social case work.
3. Establish a relation between social action and social movements.
4. Discuss the advantages of group work as a method of social work.
5. Differentiate between social case work and group work.
6. Explain various steps followed in social research.

Paper 6— Social Work Administration

Answer any two Word Limit 1000 15x2=30

‘Social work administration is different from management”. Discuss.
. Define decision making. Describe the skills required for decision making.
. What is the meaning of Appraisal? Discuss various methods of appraisal.

. Fund raising is a basic element of voluntary social welfare agency. Justify.
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4. Write the purpose and importance of promotion.
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6. Highlight the functions of Odisha State Social Welfare Board.



Paper 7— Social Problem, Social Policy, Social Legislation & Social Development

Answer any two Word Limit 1000 15x2=30

1. Explain the concept of crime and discuss its cause and consequences.

2. Discuss different social policy issues.

3. Discuss about National Trust constituted for the welfare of autism, cerebral
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palsy, mental retardation and multiple disabilities.
What are the main provisions of ‘Indian Rehabilitation Act, 1992’?
Define social service and elaborate its evolution in England and India.

. What do mean by people’s participation in development. What role people

can playinit?

Paper 8— Social Work with Weaker Sections

Answer any two Word Limit 1000 15x2=30

Discuss the meaning, definition and criteria of weaker section.

Discuss the legislative measures to eradicate untouchability.

Briefly describe the salient features of the National Rehabilitation Policy.
Identify the major problems of tribes in India and account the
constitutional provisions to reduce these problems.

“Special welfare programmes are the special needs of weaker sections in
India”-elaborate.

“OBCs in India have inherited their socio-economic problems from their
educational disabilities in the past”-justify.



